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(1) g(x) = ex

∫ x

0

f ′(t) dt +
∫ x

0

etf ′(t) dt であるから，

g′(x) = ex

∫ x

0

f ′(t) dt + exf ′(x) + exf ′(x)

= ex(f(x) − f(0)) + 2exf ′(x)

= exf(x) + 2exf ′(x) − ex

:::::::::::::::::::::
.

(2′)

exf(x) = −3x2ex + g(x)

の両辺を微分して

exf(x) + exf ′(x) = −(3x2 + 6x)ex + exf(x) + 2exf ′(x) − ex

を得る．これより exf ′(x) = (3x2 + 6x + 1)ex であるから，

f ′(x) = 3x2 + 6x + 1

となる．よって

f(x) =
∫

(3x2 + 6x + 1) dx = x3 + 3x2 + x + C

であるが，条件 f(0) = 1 より C = 1 である．よって

f(x) = x3 + 3x2 + x + 1
:::::::::::::::::::::::


